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I. CHOOSE THE CORRECT OPTION (1x15=15)

1. Why has egalitarian family structures increased in the last decade?
a. More women are seeking shared authority and power within their households

2. Which statement about family structure is most accurate in the last few years?
a. Married couples without children has increased

3. Which type of families has risen most in recent years?
a. Single parent family            

4. Juvenile delinquency rates are high in 
b. Single parent homes                

5. Marriage appears to be in decline because
a. Many people are cohabiting in long term relationships

6. Rachel and Mike are unmarried, lives together, and have no children. They are a
c. Cohabiting couple              

7. Modern urban industrial families are usually based upon
a. Conjugal relationships           

8. Characteristics of the urban industrial family are
d. All

9. Generation gap occurs because
a. Both b& c

10. The most consistent predictor of divorce is marrying
c. At an early age            

11. The largest change regarding families now is
c. Liberation of gender roles            

12. Concept of symmetrical family are taking the place of traditional patriarchal family because
a. All of the above

13. The protective and socializing function of families are today taken over by
d. All

14. Live in relations are beneficial for some couples because
a. All of them

15. Which one of them is not true about the recent trends in family pattern?
b. Decreasing divorce rates        
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